
(G) The Skates of Wrath (1/1) [Solution] 
Meanings of abbreviations: 

DIM = diminutive (meaning roughly “little” or “young”) 

LOC = locative (meaning roughly “place”) 

INF = infinitive (the “to X” form of a verb X) 

PL = plural 

 

G1. Correct matches: 

1. R (tell-INF) 

2. B 

3. N (dog-DIM) 

4. G (sit-LOC) 

5. Q (sit-INF) 

6. E (wash-LOC) 

7. I (Mexican-food-LOC) 

8. C (big-wheel) 

9. L (big-town) 

10. J (paper-tell) 

11. M 

12. F (paper-LOC) 

13. H 

14. P (metal-tell) 

15. A (metal-brain) 

16. O (wheel-PL-shoe-PL) 

17. K (horse-food) 

18. D (horse-DIM) 

 

G2. 

tôskashâ:  horse 

kôkenêwa:  to wash (wash-INF) 

 

G3. 

brain:   wînêtepi   

shoe store:  mahkathêhanikâneki (shoe-PL-LOC) 

  also acceptable: mahkathêhikâneki (shoe-LOC) 

town:   otêneki 

  also acceptable: têneki, otênekéhi, tênekéhi, otênehéki, tênehéki (town and 

  town-DIM, according to various acceptable analyses of the components) 


